
Economics 3250 Dr. Lozada
Spring 2016 Exam 1

This exam has 25 points. There are six questions on
the exam. Most of the questions are worth 4 points, but
one is worth 5 points.

Put your answers to the exam in a blue book or on
blank sheets of paper.

You have the entire class period (that is, until 1:10pm)
to take this test.

Answer the questions using as much precision and de-
tail as the time allows. Correct answers which are unsup-
ported by explanations will not be awarded points.
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Answer all of the following six questions.

1. [4 points] In this class we usually assume that a firm’s “total
revenue” curve, graphed with output q on the horizontal axis
and dollars on the vertical axis, is a straight line going through
the origin (0, 0). What name do economists give such firms?
How common are they in a developed economy such as the
US? As always, explain your answers.

2. [4 points] Use Figure 1 and the following table to argue that,
in this simple context, tariffs are inefficient. You do not need to
explain the table. (If I had wanted to make this question harder,
I could have asked you to explain the table, or I could have left
the table blank and asked you to fill it out.)

Ignoring Q > E: Tariff No Tariff
consumers pay IJEG HBEG

consumers pay to domestic firms IJEG HAFG
domestic firm costs = area

under the domestic supply curve ZJEG ZAFG
domestic firm profit IJZ HAZ

3. [4 points] When considering a long-run environmental prob-
lem such as global warming, would a higher social discount rate
make it more likely or less likely that society would undertake
costly efforts now to mitigate the problem in the future? Why?
Explain your answer using some mathematics.

4. [5 points] Illustrate the “part-whole bias” which can be present
in contingent valuation analyses. Under what circumstances is
it unlikely to be a problem?

. . . continues →
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5. [4 points] In class, we discussed the difficulties which “dis-
aster aversion” could pose for social decision-makers. We also
briefly discussed the “clustering illusion,” which is described in
detail in a long excerpt continuing on to page 4 of this exam (the
excerpt comes from http://bias123.com/clustering_illusion,
references omitted). Please answer the following question, which
we did not discuss in class: How might the “clustering illusion”
pose difficulties for social decision-makers trying to figure out
how society should respond to environmental problems?

[. . . ] Gilovich claims that he is able to impress his
students by asking them to invent a series of 20 coin
flips and also recording a series of 20 actual coin flips,
while he waits outside the room. Upon returning he is
able tell which series were made up and which were
actual coin flips. (The formula is, it’s usually the one
with the longest streak.)

Why does this happen? . . . In a run of 10,000 coin
flips, there should be almost exactly 50% of each out-
come, without, say, two-thirds of the heads appearing
in the first half of the run. The problem is that people
expect these same things to be true of 10 coin flips.
They expect it to consist of about 5 heads and 5 tails,
without too many of the same kind appearing strung
together. In fact, mathematically this is quite unlikely.

As a result, people think that they see meaningful
patterns where in fact none exist. Making sense out
of an ambiguous world is simply a natural part of the
human mind, and it is an adaptive tendency that helps
us make sense out of the world, this tendency is so au-
tomatic that we sometimes infer predictable patterns
in streams that are not actually predictable at all.

In sports this tendency has been demonstrated in
the widespread belief in streak shooting in professional
basketball, the idea that a basketball player will get a
”hot hand”. . . and then successful shots will become
more likely (hot hand fallacy). Most basketball fans
believe in the hot hand; for instance, 84% responded
in the affirmative that “it is important to pass the ball to
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someone who has just made several (two, three, four)
shots in a row,” and 91% thought that a player has
“a better chance of making a shot after having just
made his last two or three shots than he does after
having just missed his last two or three shots.” Ac-
cording to a controversial study by Thomas Gilovich,
Robert Vallone and Amos Tversky, statistical analy-
sis of the records of basketball teams over the course
of the 1980–1981 season. . . showed that “hot hands”
did not exist in the players’ records; whether a player
would make a shot could not be predicted from the
previous throws. If anything, players were very slightly
more likely to make a basket after failing on the pre-
vious shot.

[. . . ] In another example, Apple changed the shuf-
fle feature for iTunes from a simple randomization to a
non-random algorithm in which dissimilar songs were
more likely to follow each other, because users com-
plained that shuffling seemed not to work. Steve Jobs
was quoted as saying, “We’re making it (the shuffle)
less random to make it feel more random.”

6. [4 points] Some economists believe that environmental prob-
lems could be solved without government intervention (essen-
tially arguing that if there are any environmental “problems,”
they are all the fault of governments). In class we discussed
some shortcomings of this argument, but for this question I
would like you to ignore these shortcomings and give the best
argument you can in support of those economists’ position.
Your answer should involve drawing a graph. The argument
you are giving is famous and has a name; you should also state
its name.
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